EARAROBEEIERT — 2 N— IBISH —F

2015537148 (£) 2EHI5H

BN > > r1>S 1600RAF ¥5%R4&E (BS) UEE] No7F

‘ (%] 8 ‘ (EmmEl - |2 (%) 2500 &

[~®4] 1 7% 18,200,000 @ ~ 2 7 :7,300,000 @ ~ 3 7 :4,600,000™

4 7% 12,700,000 5 7 1,820,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N NG > 7 | HIDAE 2:35.1 11-11-11-8 | 34.0 [ 107.6 | 7 448 | EIRIRRAC (E7H)
1{af10 77 T AN K ) (o | ) AL A3
R:xA1ZG7—R2 B4 —>Vxy b HET77—»4L
— S5 H= 4 4 | FlBEKX 2:35.4 9-10-9-2 | 34.5|104.3| 2 494 | HAKERR (3EXR)
2057 | YY=Z2KRTZTT 55.0 (1 3/4) (-6) iA;’Fg
R:xLTHXANAN BYTZ2HLT—I SRS
S 4 6 | FIRER 2:35.6 4-4-4-6 | 34.9(102.1| 5 4060 | =W (FH)
30111 RARIWVTAY YT [B] 54.0 (1 1/4) -2) (#%) ¥ Ty KI5 T-5T747
RRFAT—INE BTATAHIS EvilLy RTr—L
. 1) o4 | AUTR 2:35.6 4-4-4-2 |35.0(101.3| 3 474 | LREZ (EH)
418 12| LT ATAEY v b 5.0 (NF) (+4) | A) ¥+By bTr—L
R:xIAMO— B:ITIINLAYF— J—H T p—Lh
B .= B FiElE :35. —7-7- . . REEXR (ER)
51813 7 RIYAYIINT— R 4 6 @ 2(13/52)7 7-7-7-6 | 34.9 1 101.0 [§ (?Tg) FEFI
LNnN=v774 B:70FE-3> J—=HrTp—L
=, o5 : H o8 | SHER 2:35.8 7-7-7-8 | 35.0| 99.9 | 4 480 | FORBEE (5iA)
6 ®Y T I R-IK 56.0 (3/4) (o) | @R E<Ba%T—2
LANRTNGR BHITIZTIR ke
N - - t . _13-19— - — ;i
7 ®H>a~)—F+1 + [B] 6 SS%W 2(/3%3 13-13-12-12| 34.5 | 100.1 | 9 ig? ﬁggﬁ% (i)
RZANAF2—-)b B:hI/5TF K= e
K oy A 44 | EEEER 2:35.9 3-3-2-2 [ 35.4| 929 | 1 196 | AEBE (BR)
8 Yy ROE Y — 2.0 (1/2) ) BRIFA—
L:ARTA MY B:ALRA Y L— R HBITr—L
S : i 5 | REER 2:36.0 2-2-2-1 |35.5| 90.7 | 8 454 | FOEHEE (i)
9 AT AR 56.0 (3/4) o | B ¥ITLyRI5T 5747
RZAFAT-NE B:YARTATILT AXREG1—Tr—L
S = 4 6 | SHE 2:36.1 9-9-9-8 |35.1]96.2 | 11 | 478 |E&EHA (EH)
10/5|6|B¥T~7— 54.0 (172) o) | AKEER
LA TATv— B4 /T B Bz
K 49 | AEFEN 2:36.4 1-1-1-2 | 36.0 | 81.2 | 12 444 | BETRE (FEE)
1zl 2 M>¥avsri 52.0 @ (-g) | ARt
X423 Ry B:y%—32z0 HEEERS
g TIL S 4w 4 7 | IHRS 2:36.8 4-4-4-8 | 36.1| 77.3 | 10 500 |MEHMEL ()
P 1 IR LA .0 2 1/2) (-4) |EEEF
RTERALT Y KFA BT IRYH A4~ KR iEa
-2 - # 7 | RLRKA 2:36.9 12-12-13-13| 35.4 | 86.2 | 13 | 492 |REMFiL (k)
13 2| =/ A4 52.0 (7€) (o) | EHIEST
R:O-JX12 214 B:=v /7M1 AL
@ 71 L
) 46.9-34.7
NO>24 L |7.0-11.6-12.6-12.4-12.7-13.6-13.1-13.1-12.1-12.2-11 .9-11 .1-11.7
@ 1—F—@&BIEf
13=7r= (x11,9)8(5,1,12) (4,13) (6,7)-10-2-3
20—+ — 11,9,8(5,1,12) (4,13)6,7,10-2,3
33—7F— |[11(9,8)(5,1,12) (4,13) (6,7)10,3,2
41—+ — (11,%9,8,12,7) (1,13) (5,6,4,10)-3-2
[ RN
B OB 10 2,380 714K 7-10 1,470H e & 5-7 3,270H &R 1-7-10 12,980M
% B 10 480M 1-10 3,180 | | /5 = 7-10 4,570 | | 3EE 10-7-1 123,320
7 160/ 1-7 600 B H 10-7 12,490
1 260M

ABICOVWTRDTEEERROODE. TR LIV,




